z a—&faﬁ‘mﬁmwﬁgé?
(A)ahi’cmsmz@a
(B) Ak HER
(C) aTf
(D) FRd
3. ST WS
o B) T + g
()T + 3 (D) I + ST —
4. ‘U9 B Ray’ Ha AT STl
27
(A) 10 ®HEd
,,(gfwrnzf
\er 10 S
(D) 10 SHEO

T + HTH H B v
__AAy e Aty

(B) o1 Al

@mmnssuu@

YOUR SUCCESS PARTNER

FI ggiHarET
A) TS (B) TTHITr
(©) Fraba (

LT S |

11.

&

aql o gEE B o

o Ty T

(B) acgsEY HHIY

(C) AT HHY
(D)agiﬂ%wm
ar\rr F1 faermmedl o=z & .
(A) B (B) 9a+1

9 ©) gof

indiresult.in whatsapp - 9352018749 y
: it



A indiresultin whatsapp - 9352018749

13. ﬁw(ﬁ@a@%—ﬁa@%i
(A) gfameT ~
(8) fepam
- (C) MU
(DY T %

18, S’ &1 @@ B
(A) T (B) STEITl
{C) FITEX (D) Gt
15. ‘ara=ET feam fREE & B 7
(A) HsTT &
(B) FHAATCT F .
(C) @™ A
15 R

16. ‘45 @ HE o™ PRV F I
HH HT UATT & 7

(A) =TT HIH
(B)

(CYEITETT HIEh
(D) | LD

| i HeHe gega @ EU A
He-He F T 7

(A) TepaTfaeTaeT.
(B) fagreT
() fepe
! - e AT T o
: ») EEE (B) EIceh
Noj o (@) ST

L]

INDIRESULTE

uuuuuuuuuuuuuuuuuu

- @noicsudis

10, ‘A g BA-EN S 7

(B) IS

(A) I
oy (D) IaEE

" (C) SO

00. “rE weae or T B BXg A

(A) Hrarg (B) TIXET
(©) T gy <t
21, ‘U T Al 9 ©
() T <l
(C) eag (D) |ATI
20, ‘AT F e FHARNE TR B :
(A B (B) BT
(C) IBY W

23. HE-FE X U FES, TR HE
qv &t - #§ e uigda &r
S B 7

(A) T eTIX A=l &

(B) &I AR T &1

(‘c)ag—;:a?ﬁqaﬁzﬂ
rﬂq@mﬁr%ﬁ%ﬁa‘%&ﬁﬁaﬂ
24, ‘qET ¥ dAd T

(A) HTHOT AT

(B) ETeHT TRIAT

(C) STy (D)
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ENGLISH

L R S e

Direction : (Q. No. 26 & 27) : In the following
questions choose the alternative which best
expresses the meaning of the given word :

26. Vocation

9\»)’ Holiday

(B) Break-up
(C) Occupation

(D) Virtue
27. |Imperious

(A) Proud (Bﬁ'emper

(C) Tamper (D) Distant
Direction : (Q. No. 28 to 31) : Choose the

correct determiner from the given option :

28. 'She will have been served food' is in :
(A) Past perfect tense
B Futu}e perfect continuous tense
(C) Future indefinite tense
(D) Future perfect tense

29. This lessonis .............- difficult.
(R too (B) very—
(C) the little (D) much

30. A word or law no longer in use' is called :
( out-dated
(D) obsolete

(A) cynic
(C) reticent

31. | love my books so much so that | cannot
part ............ them.
(A) from (B) with e
(C) by ([}Y without

32. Choose the word that is spelt correctly
from the given alternatives :

(Aa/ Deceive (B) Decieve

(C) Diceive (D) Dicieive

@YNDIRE TE

OUR SUCCESS PARTNER

YOUR SUCCESS PARTNER

33. Choose the correct article from the given
alternatives :
He S .....oovie one-eyed person.
(K) an (B) a
(C) the (D) None of these
y
34. Choose the correct synonym of 'Audacity' :
(A) Alertness (B) Timidity
(©) Humility (D) Boldness
35. Choose the correct antonym of ‘Mil’igg' :
(A) Goodwill (B) NI-Will
(&) “Spite (D) Hate
Direction : (Q. No. 36 & 37) : Choose the

correct option of indirect form of speech :

36.

37.

indiresult.in whatsapp - 9352018749

The teacher said to the students, "Let us
start a new lesson."

V’() The teacher asked the students to
start a new lesson.

(B) The teacher suggested to the
students to start a new lesson.

(C) The teacher suggested to the
students that he should start a new
lesson.

(D) The teacher suggested to the

students that they should start a new
lesson.

He said to his teacher, "Good night, sir

y)(f He wished his teacher good night 3/
(B) He respectfully wished his tee sher

good night.

(¢) He respectfully bids his teache good
night.

(D) He respectfully bade his teacher
good night.

P TO.
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Direction : (Q. No. 38 to 43) : Choose the

correct synonyms for the underlined words from
the given alternatives

(A) with

39. REGRET:
(A) Happy
(C) Reproduce

40. WHIMSICAL
(A) Amusing
(C)>Sorrow

41. INTERMITTENT :

(A)_.s Intermingle
(97’ Periodic
42. OBSTINATE :

(A) Absolute
(C) Obsolete

43. CARDINAL :
(A) Chief °
(C) Correct

38. PROMIBIT
(A) Allow (B) Grant
(©) Ban (D) Sanction

(B) Bloom
(D) Repent

(B) Sad
(D) Mad

(B) Indifferent
(D) Transmit

(B) Stubborn
(D) Old fashioned

(B.)\ Cardiac
(D) Formal

Q(Bf/b{ 4
(C) at
(D) of

46. He is weak ...... chemistry.
(A) at

(8) in :

Vi

(C) with
(D) into

47. Choose the right sentence :

(/A) Kalidas is the Shakespeare of India.

(B) The Kalidas is Shakespeare of India.

(C) The Kalidas is the Shakespeare of
India.

(D) Kalidas is the Shakespeare of the
India.

48. 'We reached safe and sound.' Which part
of speech sound' is ?

Direction : (Q. No. 44 to 46) : Choose the most

appropriate option from the given alternatives to
fill in the blanks :

B

44. He deals coan Iy statuoneirlﬁ
\‘A) with
(B) at
(C on
E (P) in &
Zyoiresy

OUR SUCCESS PARTNER

(A) Noun /55 LA@

@)/kdjective_ (D) None of these
49. Choose the correct gender of Fox

(feminine) :

"y Ox }55 Vixen _—

(C) Wasp ‘(D) Boar

50. Young one of 'sheep' -

C—_—

(A) Cub

(C) Calf
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i

T

51. o 1000 WX 10% aqitfes ¥ | 2

52.

53.

54.

95,

56.

T T TEhgRE AT B

(A) $0 1210 (B) Fo 210

(C) B0 200 (D) o 190

usp I@ES! 3750 fhowlo & gl 25
gue § 99 & ©, A U "Ue H
SIS I MR 13 RS AL U o el
rfE 7

(A) 140 THoHlo
(C) 150 FHoHlo

(B) 175 fHoHlo
(D) 130 THoHlo

(0 = w B
(Af -1 B) 1"
(C) 1000 (D) —1000

S @ STg ST W oy
S B 5 g ded S| Y HAT
0 oy @ R o S @ 9Tg
T HIfeIT -

(A) 10 g9, 12 99

(B) 5 @¥, 10 &9

(C) 15 a4, 30 ad

(D) 12 @, 24 a9

afz g @ aRkfy 132 Joilo B, d
39 g« H1 ABd FT BRT 7

54.

(A) 1386 i1 YoiTo o | +5°
(B) 1386 HoHlo S i

(C) 1486 a7 HoHlo Q}_d{\ ,C/_((/"

@) 1820 = Do 7

afe 567567567 @ 567 @ HET f&AT 56.

ST, a7 9%l 81 ¢

()/ 111 (W1
* C) 4001001 (D) 301
(o) INDIRES

PARTNER
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51.

52.

53.

The compound interest on Rs. 1000 at
10% per annum for 2 years is: :

(A) Rs. 1210 (B) Rs. 210

(C) Rs. 200 (D) Rs. 190

A train cover a distance of 3750 km in 25
hours, how much average distance the
same train will cover in one hour ?

(A) 140 km
(C) 150 km

(B) 175 km
(D) 130 km

The valué of (—1)1000 is
(A) -1 (B) 1
(C) 1000 (D) —1000

Arjun is twice a old as Shreya. Five‘years
ago his age was three times Shreya's
age. Find their present ages :

(A) 10 years, 12 years |
(B) 5 years, 10 years
(C) 15 years, 30 years
(D) 12 years, 24 years

55. |If Q\e circumference of a circle is 132 cm,
\‘\‘Xﬁe area of circle is :

(A) 1386 cm? an %
(B) 1386 cm £
(C) 1486 cm? T

(D) 1320 cm?

If 567567567 is divided by 567, then the
quotient will be :

(A) 111
(C) 1001001

(B) 10101
(D) 301
P RO
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g’/amnmesu

4

A
indiresult.in %vhatsappf 9362018749 gt
ke
4 3 :
A 1 (B) 0 *
(C) 14 (D) —1
58. 39 Ml H A™AA, ot Hewr
2d &
=G g, B8 :
3
A 32148 B 23n4°
81 4
< 84" . s
C) —nd D) —nd
(C) s (D) gl
/ﬁ{aﬁawwm@aﬂw
66 T, dl Bl 99 §&T 8 o
. (A 34 (B) 32 gé
(C) 42 ) 24
P 7 4 2 5
60. =EgaT 2?5, 11,‘220‘, 32,‘!47,(?....‘, 86 H
g AT 54 DI :
s 7
(A) 60 (18;/6{ ', ’Mr%
(C) 8 )62 TGP
s(.nrr??fwarwmv;osooe o

o

=
o

=ZIEAT

I Ed aa ST B | FIX_FH BER
(A) o 7000 /{) 0 6000 T
(C) 5o 10000 / (D) o 9000
1 5 ggl 5
"100 1000 * 10000
(A) 5.1551
(B) 5.0151 - A
(C) 5.0201
(D) 5.01201

TNER

AR UF qY_d 25%

25%

58.

99,

61.

62.

®o0
D)

(A) 1
(C) 14

& 2d o
If the radius of a sphere IS —3— en its

volume is :
32 3 ~ gEa-nda
(A) -8-1—nd (B) i
34
©) 32,48 ) =-nd®

If the sum of two consecutive even
numbers is 66, then the smaller one is :

(B) 32
(D) 24

(A) 34
@) 42

Find the missing number in the series

2, 5,11, 20, 3237 S 86 :
(A) 60 (B) 65
(C) 58 (D) 62

Mohan purchased a car for Rs. 8000 and
sold it after one year at a loss of a 25%
Find the selling price of car :

(A) Rs. 7000 (B) Rs. 6000

(C) Rs. 10000 (D) Rs. 9000

Thevalueof5+i+ o 51
100 1000 10000

(A) 5.1551
(B) 8.0151
(C) 5.0201

(D) 5.01201
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8. éSPZq r®)x (-4p%q r%)x(7pq®r) s

(A) 84p°g5®  (B) 84p®q°°

\_L(/g),,——isltpﬁqsr6 (D) —84pSq5s5

21
64. -7 +—:?
(,‘) 3

-147 -13
A) —— Bl
R {k ) S

14-7 S
D) R e
) 13 ) 3

65. fohtll, dio-g<iiy a9 B SMUR H
gRIY 44 Forflo B X A A
15 Yo¥lo B A9 HT  F=AH

(Aorfic® F) B (n=?7£ fiftr) -

(A) 770
(C) 1540

(B) 1155
(D) 2310

/m.agaaﬁzﬁéﬁ@ramaﬁmﬁﬁ
4,9 X 10 U A g &

=
(A) 900 (B) 400
(C) 490 )121 360

67. Ush Al & dad H 10% ghs Il
2| gfd IFHT 797 9d9 Ho 1,54,000
g, Ol IEH HA I99 © ¢

(A) To 1,50,000
(B) &o 1,60,000
(C) B0 1,40,000
(D) To 1,45,000

68. AfE 56-45+x =17, @ x=7

63.

64.

65.

66.

67.

68.

(3p2q r®)x(-4p3q r?)x(7pq°r)
equal to: : i :
@) 84p%q®r®  (B) 84p%q°r® e
(c) -84p%qSr® (D) -84p8q°r®
21

~7)+—="7
C) 13

-147 -13
A) B) —
(&) 18 () 3

14 -7 13
) B) B
@ (0) 3
Circumference of the base of a right
circular cylinder is 44 cm and its height is
15 cm. The volume (in cm® of the
cylinder is (Taken = 272) .
(A) 770 (B)' 1155
(C) 1540 (D) 2310
Find the smallest square number which is
exactly divisible by 4, 9 and 10 :
(A) 900 (B) 400
(C) 490 (D) 360
A man got 10% increase in his salary. If
his new salary is Rs. 1,54,000, then
original salary is :
(A) Rs. 1,50,000
(B) Rs. 1,60,000
(C) Rs. 1,40,000
(D) Rs. 1,45,000
If 56 - 45 +-dx = 17, then x = ?
(A) 36 (B) 25

(C) 16

i 2
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127
69. ;27 hl g i 69. The cube root of 15—6— is
6 =% 6 e
ApSE B) Ay (B
(A) - (B) yr (A) > 4 |
© 15 0) & ¥ D T © 12 (D) None of these
70. TH g @ SEE 5000 T SR 2% 70. The population of a village is 5000 and it
P T G BC g9 dedl o1 & Iy increases at the rate 2% every year. After
g febar eendt Bt ? 2 years the population will be :
(A) 5108 (B) 5200 (A) 5108 (B) 5200 i
(C) 5209 ", (D) 5300 (C) 5202 (D) 5300
71. Ife uH 240 Ho = IS wH 71. If a train 240 m long passes a pole in 16
Td FH 16 Thvs H UK FHT Ad ’%‘ seconds, then the speed of the train is :
dl 39 [@ET T B o
(A) 36 fFHTo /Ho (B) 54 fpio /Ho (A) 36 km/h (B) 54 km/h
(C) 60 fFHTo /Ho (D) 72 fbHio /g0 (C) 60 km/h (D) 72 km/h [
72. 4, 6, 12, 15 & TYAH FHUED 72. L.CM.of4,6§12,15= 2
(fododgo) =
(A) 180 5 @)/o (A) 180 (B) 60

: 7
iC) 72 (B 1207 ) 72 /D)/120
73 19030540 . 9 2 7

73. 2939498~

B ®) 24 ") ) 24

(C) 0 (D) 399 § P &t (C) 0 (D) None of these
74. 0.42 + 0.042 + 0.0042 — 0.00042 T 74. The sum of Q42 + 0.042 + 0.0042 _
A e 0.00042 is - ;
(A) 0.42424 (A) 0.42424
(B) 0.46578 //<§) 0.46578
(C) 0.42654 (C) 0.42654 J
(D) 0.42528 (D) 0.42528
3 :
75. 25 &1 Yferera # oo - 75. Write 2% In percent :
) 35% (B) 350% (A) 35% (B) 350%
(C) 3.5% (D) 0.35% (C) 3.5% (D) 0.35%

l
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7. AT Tl @ g B 7
’ (B) wifa=g fag=zs
3 &
() TEERE B |
(D) 399 T f
78.
79.

g1 7

(A) 16 31, 1853

@) 16 e, 1852-,

(C) 26 715, 1851

(D) 26 HZ, 1850
80. THI F F=A FH 2

(A) #79T (B) Fram@er

(CyFEadfaE 9= (D) sEET
81. Bame wRer == =EEE &

AT Ha 85 7 -
(A) 15 2T, 1948
(B) 01 ==, 1966
(C) 15 =TT, 1947

.‘Mwﬁ, 1971

OUR SUCCESS PARTNER

(% WoiresuLTe

78.

719.

o o

(D) Mother Board

re

Ci e
What is the source of Sun Energy 7o

(A) Nuclear fusion\

(/B’)/ Nuclear fission

(C) Chenﬁcal reaction

(D) All of the above

Who was the leader of Dhami Movement
in 1939 ?

(A{ Kanshi Ram
(C) Sher Singh

(B) Padam Dev
(D) Bhagmal Sautha

When was the first train started in India ?

_(A) 16 April, 1853

80.

81.

(9)/ 16 April, 1852
(Cy 26 May, 1851
(D) 26 May, 1850

The main cause of Earthquake is :

(A) Erosion (B) Denudation

(CY Tectonic forces (D) Weathering

~

When was the Hight Court of Himachal
Pradesh established ?

/(;6 15 April, 1948

(B) 01 Novembér, 1966
(C) 15 August, 1947

(D) 26 January, 1971
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FrEd SBIATFRIES
(D) 3 TTHI

83, dRwvSE H TAY W IS BT
g7
A) g (BT
(C) ge|id (D) i+

84. ASFE TdHsSHI B Wik
RE= AHstHe (NAARM) e 8 7
A) 95 el ¥ (B) BaEiE A

@z\ﬁ'{ﬁ (D) ST |

85. Al % HIH dBY T B T
THA (B) Efeq
(C) O D) g5 ¥ & &I

86. U= Il H fIarferss gdd &+ foha
99§ ST ST 8 7

Wqﬁa (B) SeTens

(C) 9T AT (D) SHT

‘FHA SET ST @Wﬁﬂﬁ% &l
%ﬁﬁﬁi@%

(A) THET &I (B) STETH hi
er S Sl D) X I

88. feHrael Ul & wad =¥l urpfaes
#ieT fep By § 8 7

(ARG (B ey
(Cy AVST (D) =T

89. Wﬁﬂaﬁﬁéﬁﬁﬁﬁqzﬁ%?

(A AT (BY Taret
) W (D) @&
(-’@. RESULTE

YOUR ll.lt‘.'{‘.'iii PARTNER

82.

83.

84.

85.

86.

87.

88.

89.

i 12
@m. IRESULITE

What is dry ice ?
(A) Solid Oxygen
(B) Solid Nitrogen
(C) Solid Carbon dioxide
(DY, Solid Sulphur

Which planet is the hottest planet of the ,

solar system ?
(A) Mercury (B(‘Venus

(C) Jupiter (D) Saturn

[

National Academy of Agricultural Research
Management (NAARM) is located at :

(A) In New Delhi (B) In Hyderabad
(C) In Nagpur (Pa)’ln Nainital

What is the outermost layer of the teeth
called ?

(A) Enamel
(C) Cement

Dentin
(D) None of these

What was the Shivalik mountain known
as in ancient texts ?

(AY'Mainak Parvat (B) Dhauladhar

(C) Peer Panjal (D) Jaskar

'Kufri Jeevan' and 'Kufri Jyoti' are two
famous varieties of :

(A) Tomato
(9)’ Potato

Which district of Himachal Pradesh has
the largest natural lake located in ?

(B) Almond
(D) Grapes

(A) Sirmaur (B) Bilaspur

(C) Mandi (D) Chamba

Which is the longest tunnel of India ?
(A) Chenani-Nashri (B) Jawahar

(C) Victory (D) Leh
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95. oy HfET HaT & ?

93.

94.

95.

(A) Punjab
(B) Uttarakhand
(C) Assam :
(D) Himachal Pradesh

Who composed the grammar of Sanskrit
Language ? '

(A) Valmiki
(B) Tulsidas
(C) Panini

(D) Kalidas

Which feature of food is identified by the
red and brown mark made on the food
packets ?

(A) Vegetarian |

(B) Non-Vegetarian

A(C) Vegetarian & Non-Vegetarian
(D) None of these

'KALINDI' is the vedic name of which
river :

(A) Vyas (B) Ravi

(C) Yamuna (D) Sutlej

Where Bhootnath temple is situated ?
(A) Bhunter

(B) Sarahan J

(C) Mandi

(D) Manali
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o5, Fr-ar qar od ¥,
fp off ST & 7

(A) SHoHISdl
(B) S
(€ ggat

i ol

97. 9T & d=-ar W ‘fifew wsrar
g e
FHedEr 8 7

(A) Raeax
B) =y

(99) THLTAT

D) FFR

S oqeft w8t B

98. AT UEH-dN HT JEd dFT HET
=T e ?

(A =21 3Tia

I
ST S
(C) AT
(D) AT

99. fasg 5@ fegq e #=ET SAT 8 7
Wz’qﬁ
(B) 8 AT
(C) 5 S
(D) 14 Faw=Y

100. 91 &1 BO OT Y 9@ & RO
BT & ?

_ () At
5 (D) 29H | &g HEf -

- Q”alNDmESULTE

YOUR SUCCESS PARTNER

96. Name the creature which is not a bird, but
canfly :

(A) Woodpecker
(B) owl
(C) Ostrich
(D) Bat
97. Which place of India is kndwn as 'Little
Lhasa' ?
(A) Rewalsar
(B) Spiti
(C) Dharamshala
(D) Kinnaur
98. What is the longest part of human
digestive system ?
(A) Large intestine
(B) Small intestine
(C) Stemach
(D) Rectum

99. When is the world water day celebrated ?
(A) 22 March
(B) 8 March
(C) 5 June
(D) 14 November

100. The colour of leaves is green due to -

(A) Zinc
(B) Nitrogen

{€) Chlorophyl|

(D) None of these
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